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21FEE 7,490 1.6| 5,428 -4.2| 1.38] 21,128 2.1/ 21,356 -4.9| 0.99] 1,408 -3.2| 18.8/0.77
28FEE 8, 113 8.3 5,135 -5.4| 1.58| 22,952 8.6/ 19,823| -7.2| 1.16] 1,342 -4.7| 16.5]0.89
9FE 8,337 2.8 4,871 -5.1| 1.71] 23,936 4.3] 18,978| -4.3| 1.26] 1,284 -4.3| 15.4{1.03
0EE 8, 889 6.6/ 4,467 -8.3| 1.99] 25,633 7.1 17,682 -6.8| 1.45] 1,188 -7.5| 13.4]1.13
TTEE 8,566 -3.6/ 4,297 -3.8] 1.99] 25 093] -2.1| 17,003] -3.8] 1.48] 1,051| -11.6/ 12.3]1.12
30/10~12| 8,807 5.5 3,955 -6.2| 2.23| 25,947 6.9| 16,969 -6.2| 1.53| 1,154/ -8.5| 13.1] -
31/1~3 9,160 4.7 4,680 -8.6| 1.96| 26,236 b.4| 16,995 -6.8| 1.54] 1,170 -7.4] 12.8] -
31/4~6| 8,759 0.4 4,753] -3.5| 1.84| 25,789 3.8/ 17,965 -5.6| 1.44| 1,141 -10.4| 13.0] -
3T/7~9 8,848 -0.2| 4, 6312 0.1] 2.05| 25,353| -0.6| 17,501 -1.3| 1.45] 1,099 -4.7 12.4] -
gt/10~12| 8,486 -3.6| 3,794 -4.1| 2.24| 25,258 -2.7| 16,304 -3.9| 1.55 996| -13.7| 11.7| -
2/1~3 8,171 -10.8| 4,330 -7.5| 1.89| 23,971 -8.6| 16,241 -4.4| 1.48 966 -17.5) 11.8| -
2/4~6| 6,727 -23.2| 4,485 -5.6| 1.50( 20,154| -21.9| 17,167 -4.4| 1.17 893| -21.7| 13.3| -
2/7~9 6,858 -22.5| 4,047 -6.1] 1.69| 19,512 -23.0] 18, 221 4.1 1.07 882 -19.7] 12.9f -
314 R 8,930 1.5 5,432] -4.6| 1.64] 26,008 5.2\ 17,956 -7.1| 1.45] 1,164 -11.1 13.0f 1.08
TtHE5A 9,192 3.2 4,593 -3.2| 2.00| 25,878 4.0/ 18,158 -6.1| 1.43| 1,140 -10.7| 12.4{ 1.07
6 A 8,156/ -3.6| 4,233] -2.5| 1.93| 25,481 2.3| 17,782 -3.4| 1.43] 1,119, -9.4] 13.7] 1.10
78 8,985 3.4 4,579 10.2| 1.96] 25,6345 0.6 17,867 1.2 1.42] 1,143 3.0/ 12.7] 1.12
8 A 8,777 -4.2| 4,022| -15.1| 2.18| 24,991 -2.2| 17,342 -3.6| 1.44 992| -13.7| 11.3| 1.13
9A 8,781 0.3 4,334 7.8/ 2.03 25,723 -0.3| 17,294 -1.5] 1.49] 1,162 -3.0{ 13.2| 1.14
108 8,704 -4.9| 4,433 -4.7| 1.96| 25,746 -2.0| 17,263 -3.9| 1.49( 1,134 -12.6| 13.0] 1.15
1A 8,678 -4.9| 3,585 -7.6| 2.42| 25,256 -3.4| 16,292 -4.3| 1.55( 1,005 -14.6| 11.6] 1.18
128 8,076/ -0.9| 3,364 1.0 2.40| 24,771 -2.5| 15,357 -3.5| 1.61 850| -14.1 10.5( 1.21
2F1H 8,182| -13.6| 4,649 -5.5| 1.76] 23,998 -7.4| 15,858 -3.4| 1.51 868 -11.7| 10.6] 1.13
2R 8,674 -9.0| 3,975| -13.4| 2.16| 24,195 -8.3| 16,154 -5.4| 1.50 926| -20.0{ 10.8| 1.08
3A 7,757 -9.6] 4,365 -3.7| 1.78] 23,719| -10.2| 16,710 -4.4| 1.42 1,104 -19.4] 14.2] 1.08
2% 4R 6,616/ -25.9| 5,142 -5.3| 1.29| 21,855 -16.0| 17,148 -4.5| 1.27| 1,018 -12.5| 15.4] 0.92
5A4 6,642\ -27.7| 3,932 -14. 4] 1.69| 19,444 -24.9| 17,010 -6.3| 1.14 807 -29.2| 12.1| 0.84
6 A 6,922| -15.1| 4,380 3.5| 1.58| 19,162 -24.8| 17,342 -2.5| 1.10 854| -23.7| 12.3| 0.81
7R 6,471\ -28.0{ 4,276 -6.6| 1.51| 19,165 -24.4| 17,876 0.1 1.07 952 -16.7| 14.7] 0.79
8 A 6,965 -20.6| 3,808/ -5.3| 1.83| 19,493| -22.0| 18,093 4.3] 1.08 800| -19.4| 11.5[ 0.78
9A 7,138| -18.7| 4,058 -6.4| 1.76] 19,878 -22.7| 18,694 8.1 1.06 894 -23.1 12.5] 0.78
108 7,347 -15.6| 4,157 -6.2| 1.77( 20,698 -19.6| 18,940 9.7 1.09 967| -14.7| 13.2| 0.80
118
12R
3% 1HA
2R
3 H

1 EHBEORABRE, EHEORARZNA— LA LZBRCERAOKBERTHRLTELELTWLS
B N— b2 A LERCERORBERICITIRESFBECZNHEZRET IBLETNDI =D, K
BERERTOEHERABRIVEVNKELL S,

T2 REER=PEAH RERH) HREHERAHK




